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== (kg/m)

At O Z==7|: <140, O|27]: <90 17.0~26.0
ot} O £==7|: <139, O|2t7|: <89 18.5~25.0
i O Z==7|: <139, 0|2+7]: <89 18.0~26.9
=Qf O 110 < ==7| <139 20.0~279
O 2H of| A1l O 110 < £==7| <139 20.0~279
110 < £==7| <139
AH ot P = ~
HH 2L 2| Ot X O 60 < 0|27| < 89 18.0~26.9
ATA O - -
THAMME O £==7|: <139, 0|2+7]: <89 18.5~25.0
S 2to| = O £==7|: <139, O|2t7|: <89 20.0~27.9
=3 O 110 < £==7| <139 20.0~279
WHEZo|= . )
T ©
=231 O £==7|: <120, O|2t7|: <80 20.0~25.0
=4 AXA - ==7|: <140, 0O|27]: <90 -
& # 0] - +==7|: <140, 0|&t7]: <90 -
F1 EAE 71F 120 9702, FAH 92 HHME, JIIYIF Sof met MolE & S
2. RSN 7] 2@ 0|20 S AHEZE X 7|&EESAHE<190mg/dl)E F7tE e
3. AXAGAHO|: ESH, HEZBEMDX|Z Al B 7|=E@Ed<126mg/dl £)S 13
4: HE3|AI0] BE HSIAMEQ| HZIQI SloIEQ)| MEE|= HE OfH (7}t 1A} 8l BY
HEQ HZQ LRIES} HME OF s EHHIAM &



